
Year 4 
Quick Maths

Autumn – Week 1



1 337 + 100 = _____ /1

2 10 less than 547 is _____. /1

3 9 × 11 = ____ /1

4 60 ÷ 5 = ___ /1

5 1,342 + 312 = ______ /1
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1 337 + 100 = _____ /1

2 10 less than 547 is _____. /1

3 9 × 11 = ____ /1

4 60 ÷ 5 = ___ /1

5 1,342 + 312 = ______ /1
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437

99
12

1,654

537
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1 876 – 635 = _____ /1

2 2 × 6 × 5 = ____ /1

3 7 ÷ ___ = 7 /1

4 2,495 + 3,087 = _______ /1

5 1,200 = _____ + 1,188 /1
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1 876 – 635 = _____ /1

2 2 × 6 × 5 = ____ /1

3 7 ÷ ___ = 7 /1

4 2,495 + 3,087 = _______ /1

5 1,200 = _____ + 1,188 /1
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241

1
5,582

12

60
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1 6 × 40 = _____ /1

2 6,495 – 2,580 = ______ /1

3 3,543 rounded to the nearest 10 is ______. /1

4 60 ÷ 2 = ____ /1

5 8,000 – 5,423 = ______ /1
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1 6 × 40 = _____ /1

2 6,495 – 2,580 = ______ /1

3 3,543 rounded to the nearest 10 is ______. /1

4 60 ÷ 2 = ____ /1

5 8,000 – 5,423 = ______ /1
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240

3,540
30

2,577

3,915
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1 6 × 60 = _____ /1

2 7,695 – 3,790 = ______ /1

3 4,672 rounded to the nearest 100 is ______. /1

4 70 ÷ 10 = ____ /1

5 7,000 – 5,837 = ______ /1

Year 4 | Quick Maths | Autumn | Week 1 | Day 4 
© EdShed, 2020-



1 6 × 60 = _____ /1

2 7,695 – 3,790 = ______ /1

3 4,672 rounded to the nearest 100 is ______. /1

4 70 ÷ 10 = ____ /1

5 7,000 – 5,837 = ______ /1

Year 4 | Quick Maths | Autumn | Week 1 | Day 4 | Answers

360

4,700
7

1,163

3,905
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1 8 × __ = 48 /1

2 ___ ÷ 5 = 12 /1

3 4,534 + 1,000 – 100 = ______ /1

4 30 ÷ 5 = ___ × 3 /1

5 3,500 + 874 + 95 = ______ /1
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1 8 × __ = 48 /1

2 ___ ÷ 5 = 12 /1

3 4,534 + 1,000 – 100 = ______ /1

4 30 ÷ 5 = ___ × 3 /1

5 3,500 + 874 + 95 = ______ /1
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6

5,434
2

4,469

60
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